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QUESTION 1

The client provided these business requirements: 

1. 

The B2C Commerce platform will integrate with the client\\'s Order Management System (OMS). 

2. 

The OMS supports Integration us-no legacy RPC style SOAP services. 

3. 

The OMS is hosted on client s infrastructure. 

What is the right cartridge folder to place the WSDL provided for the OMS service? 

A. /cartridge/webreferences2 

B. /cartridge/webreferences 

C. /cartridge 

D. /cartridge/services 

Correct Answer: B 

 

 

QUESTION 2

A third party survey provider offers both an API endpoint for individual survey data and an SFTP server endpoint that
can accept batch survey data. The initial implementation of the integration includes 

1.

 Marking the order as requiring a survey before order placement 

2.

 On the order confirmation pace, the survey form is displayed for the customer to fill 

3.

 The data is sent to the survey provider API, and the order it marked as not requiring a survey 

Later it was identified that this solution is not fit for purpose as the following issues and additional requirements were
identified: 

1.

 If the API call fails, the corresponding survey data is lost. The Business requires to avoid data loss. 
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2.

 Some customers skipped the form. The Business require sending a survey email to such customers. 

3.

 The Order Management System (OMS) uses a non-standard XML parser it did not manage to parse orders with the
survey, until the survey attribute was manuallyremoved from the xml. 

How should the Architect address the issues and requirements described above? 

A. Create a custom session attribute when the survey is required. Send to the API endpoint in real-time. On failure,
capture the survey data in the sessionand reprocess, use me session attribute to send emails for the cases when
survey was skipped. 

B. Create a custom object to store the survey data. Send to the API endpoint using a job. On success, remove the
custom object. On failure, send the survey datawith API from the next execution of the same job. Use the custom object
to send emails for the cases when the survey was skipped. 

C. Create a custom object when the survey is required Send to the API endpoint in real-time. On success, remove the
object. Onfailure, capture the survey data in the custom object and later reprocess with a job. Use the custom object to
send emails for the cases when survey was skipped. 

D. Send the survey data to the API endpoint in real-time until the survey data is successfully captured. Instruct the OMS
development team to update their XML parser, use the Order survey attribute to send emails for the cases when the
survey was skipped. 

Correct Answer: C 

 

 

QUESTION 3

A new project for a Client will involve a few different Integrations to their middleware system resulting in four different
web services. All will use the same credentials to the middleware. Each will have the same timeout, but will require a
separate log file prefix. 

How should the Architect set this up with the Service framework using a minimal set of configuration? 

A. Four Service Configurations. Four Service Profiles,One Service Credential 

B. Four Service Configurations. Four Service Profiles, Four Service Credentials 

C. Four Service Configurations. One Service Profile, One Service Credential. 

D. One Service Configuration, Four Service Profiles, One Service Credential. 

Correct Answer: C 

 

QUESTION 4

The Architect has been presented with a requirement from thebusiness to implement a new LINK cartridge. The current
site is built on the Storefront Reference Architecture, and the LINK cartridge is certified for Pipelines and Controllers. On
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review, the Architect notes that the Jobs are all created in Pipelines. 

How should the Architect implement that cartridge to make sure the required jobs runs property? 

A. The Job Pipelines must be updated to use SiteGenesis Controllers. 

B. The job Pipelines must be removed and recreated with scripts. 

C. The job Pipelines must beupdated to use SFRA Controllers. 

D. The job Pipelines must be updated to work as custom job steps. 

Correct Answer: D 

 

QUESTION 5

A Client has automated builds that deploy the code; however, recent builds started failing with compilation issues, which
are not reproducible in developer\\'s environment. Whet first step needs to be taken to identify and fix the issue? 

A. Clean up build server work space and run job again. 

B. Verify the modules versions used to generate the code. 

C. Verify the generated JavaScript and CSS for the build. 

D. Recreate the jobin the build server to verify compilation issues. 

Correct Answer: B 
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